
12.1.21 
L.O. To solve problems 
 
1.  Some children are asked to work out 38 × 19. 
 
a.  Which is the best estimate to use to check their answers? 

 Circle your choice and work out the answer to your estimate. 
 
 

40 × 10            40 × 20            35 × 20            40 × 15 
 

 
 
estimate answer  
 

 
b.  Explain the reasons for your choice. 
 
________________________________________________________________________ 

________________________________________________________________________ 

________________________________________________________________________ 
 

c.   Work out the correct answer. 
6  
 

 
2.  A playground is 28 m long and 52 m wide. What is the area of the playground? 
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3.  Write > , < or = to complete each statement. 
 
 

a)  24 × 42                22 × 44 

 35 × 53                55 × 33 

 46 × 64                66 × 44 
 
 
 
4.  Miss Rose is ordering some pencils. 
 

She orders 17 of pack A, 14 of pack B and 4 of pack C. 
 

 
 
How many pencils does Miss Rose order? 
 

 

 55 


